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O AxpE X G7d st H A= (2] : ke/ %)
— kg welAE
oo | ot L=k S0 . . . .
9ol %é e 16 17 18 19 20
g A e | 2 v A (e | 8 dwd | A | EiE
au BOD | 3.80 | 38.06 | 3.80 | 38.06 | 3.80 | 38.06 | 3.80 | 38.06 | 3.80 | 38.06 | 3.80 | 38.06
=l
T-P | - - - - - - - - - - - -
BOD | - - - - - - - - - - - -
G|
T-P | - - - - - - - - - - - -
O AAME A=A AAgEsH: A= (9] : ke/Y)
o Apg el
o Al ug 2k
Efgj Ej;’] ol ‘16 17 ‘18 ‘19 20
T | 2=
CS I T s B = S T LT = = B 1 I = B | B s R
au BOD | 9.20 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 9.20 | 0.00
=l
T-P | - - - - - - - - - - - -
BOD | - - - - - - - - - - - -
=)
T-P | - - - - - - - - - - - -
A Xl o = I
£ANMAIY 2243 M3t
L g9l AU
Y254 841 7HBOD, mg/L) SU(T-P, mg/L)
e _ b f 7 AR b f o7} AR]
- AR] = PN v 0 A A] = / /
= (‘174) 14~°16 | "15~'17 = (‘174) 14~°16 | "15~'17
=l 2.9 3.4 3.1 3.2 0.089 0.087 0.064 0.068
=) 2.9 3.3 3.2 3.2 0.084 0.079 0.062 0.065
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13 14 15 ‘16 17 ‘18 19 20

2.0 2.0 2.0 2.0

2.0 2.0 2.0

=l 2.0 2.0

SNBSS
o || o A A AR
o] x<=2 ¢
T ot \712d%| ‘13 ‘14 15 16 17 ‘18 19 20
=l Rl$AL | 2,056 | 2,056 | 2,056 | 2,056 | 2,056 | 2,056 | 2,056 | 2,056 | 2,056
of. oA
B NE4 /Y
o
g | uwsw | wsd el 1.1
e L:]E 13 | "14 | 15 16 | 17 | 118 | "19 | 20
22 : R
vh. EXA
=] )
0o o 71& . . . . . . . ‘
B Ho 13 14 15 16 17 18 19 20
7} 1.180 | 1.184 | 1.185 | 1.185 | 1.186 | 1.186 | 1.186 | 1.186 | 1.186
= 2432 | 2,427 | 2.425 | 2.424 | 2.422 | 2.421 | 2.420 | 2.419 | 2.418
o=l Qop | 14.729 | 14.720 | 14.715 | 14.711 | 14.707 | 14.704 | 14.701 | 14.699 | 14.696
ohx] 0.710 | 0.710 | 0.713 | 0.715 | 0.717 | 0.719 | 0.720 | 0.722 | 0.723
71} 0.926 | 0.936 | 0.939 | 0.942 | 0.945 | 0.947 | 0.950 | 0.951 | 0.954




FlUE % YolAE HUE 0gY RAATY

O
Eﬂ QdY 20144 20154 2016 20174
o149l 935 958 977 992
SAMEZ(m/ Q) 293.5 268.9 230.1 206.2
SEN 0 0 0 0
3EQ 732 532 739 651
EoN =] 2,478 2,600 2,692 2,540
Jaxes £ 0 0 0 0
- F AR 21 58 62 60
) 7N 141 116 119 121
7= 171 3,024 3,433 1,716
R A 3,543 6,330 7,045 5,088
Ari| SubAEHm /) 1.0 2.0 2.0 2.0
Al 1.165 1.169 1.162 1.143
= 2.447 2.425 2.354 2.276
5;‘ Qlok 14.678 14.721 14.621 14.545
(i) oA 0.730 0.735 0.893 1.065
71e} 0.956 0.926 0.946 0.961
A 19.976 19.976 19.976 19.989
GAVA A (m) 0 2,056 0 0
A& I8 m/ ) 0 0 0 0.0

7b Felld e AT Rot A0dY (&9 : kg/2)
FodE(17d) Folaat
APRE | R B o - ! ;Q#_)}j pEmE—
H5tay (~16.12.31) | 22715 ARS-7lS oy 7ot
CH = (17.01.017]%) |('17.01.01~12.31)| ('17.12.317]%)
== A B C=A-B D E=C-D
488 4 (a8 8 (s | B (v | A | YA
BOD | 2%1 | 3.80 3806 000 | 0.00 3.80 | 38.06 000 | 0.00 @ 3.80 | 38.06
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